
Vision’s VFM-W8X4V/2 wall-mount for large-format �at-panels is designed for price-sensitive installations where no
fancy features are required. To hit the right price point and ease of installation, we’ve simpli�ed the design and
engineered down the cost by reducing the amount of materials used, but without compromise on robustness and
reliability.

It �ts any �at-panel LCD or LED screen from 47- to 75-inch with rear mounting holes up to 800x400mm apart with a
maximum weight 60kg. Everything an installer needs to put the display on the wall is included in the box.

Fixed Flat-Panel Wall Mount 800×400
VFM-W8X4V/2 EU SAP: 6333313
 vav.link/vfm-w8x4v-2

Non-tilting Wall Mount for large-format �at panels 47-75"
(subject to VESA pattern and weight limit)
Mounting points up to 800 (wide) x 400 mm (tall) apart
Light Duty 60 kg / 132.28 lb SWL
Lockable

Flexible installation
The VFM-W8X4V/2 mount is fast to �x, thanks to a proven design with slotted holes on the
horizontal part to allow easy �x to stud wall and side-to-side adjustment.

Everything included for installation
Vision puts everything the installer needs in the VFM-W8X4V/2 pack, including a load of M5, 6
and 8 bolts in varying lengths to �x the vertical arms to the rear of the display.

Safe Working Load of 60kg
Vision puts everything the installer needs in the VFM-W8X4V/2 pack, including a load of M5, 6
and 8 bolts in varying lengths to �x the vertical arms to the rear of the display.

Fits Displays of 47-to 75-inch
Fits most displays sized from 47- to 75-inch, subject to VESA pattern and weight. Curved
screens are not supported by this mount.

Meets ADA Regulations
The slim design holds the display just 29 mm (1.1-inch) off the wall, which not only looks
better, reduces snagging and enables a higher safe working load rating, as well as meeting
ADA regulations.

Folding Frame
The part that �xes to the wall comes pre-assembled to reduce �ddly assembly. It unfolds in
seconds to deploy.

Latches in Place
Once in place locking strips slide up to prevent the assembly being lifted off the bracket by
opportunistic thieves. Quick-release cords pull down to unlatch.

Non-Tilt
Strength comes from a simpler non-tilting design.

Open Architecture
The open centre of the wall plate allows cables to be fed into the wall easily, all completely
hidden behind the display.

Lockable
Holes are in place to secure the display with a padlock (not included).

https://visionaudiovisual.com/wp-content/uploads/2021/05/VFM-W8X4V-2_menu.png
https://vav.link/vfm-w8x4v-2
https://visionaudiovisual.com/wp-content/uploads/2021/05/VFM-W8X4V-2.png
https://visionaudiovisual.com/wp-content/uploads/2021/05/VFM-W8X4V-2_dims.png
https://visionaudiovisual.com/wp-content/uploads/2021/05/VFM-W8X4V-2_front.png
https://visionaudiovisual.com/wp-content/uploads/2021/05/VFM-W8X4V-2_side.png


48264/en/2021-06-10 07:20:59/2021-06-11 00:16:53

MANUAL

2 manual
EN PDF 3.67 MB
�les.visionaudiovisual.com/products/VFM-W8X4V-2/manuals/VFM-W8X4V-2_manual.pdf

IMAGE

Image 2
PNG 2.80 MB
�les.visionaudiovisual.com/products/VFM-W8X4V-2/images/VFM-W8X4V-2.png

Image 2
ZIP 2.46 MB
�les.visionaudiovisual.com/products/VFM-W8X4V-2/images/VFM-W8X4V-2.zip

2 dims
PNG 56.38 KB
�les.visionaudiovisual.com/products/VFM-W8X4V-2/images/VFM-W8X4V-2_dims.png

2 front
PNG 3.36 MB
�les.visionaudiovisual.com/products/VFM-W8X4V-2/images/VFM-W8X4V-2_front.png

2 front angle
PNG 3.12 MB
�les.visionaudiovisual.com/products/VFM-W8X4V-2/images/VFM-W8X4V-2_front_angle.png

2 side
PNG 0.99 MB
�les.visionaudiovisual.com/products/VFM-W8X4V-2/images/VFM-W8X4V-2_side.png

SPECIFICATIONS

PRODUCT DIMENSIONS
890 x 431 x 29 mm / 34.0″ x 17.0″ x 1.1″ (width x height x depth)

PACKAGED DIMENSIONS
450 x 87 x 75 mm / 17.72" x 3.43" x 2.95"

PRODUCT WEIGHT
2.21 kg (4.87 lbs)

PACKAGED WEIGHT
2.5 kg (5.5 lbs)

SAFE WORKING LOAD
60 kg (132.28 lbs)

CONTRUCTION MATERIAL
Cold-rolled Steel 2 mm (0.08")

COLOUR
Powdercoated Black

VESA SIZES
800 x 400 mm 700 x 400 mm 600 x 400 mm 400 x 400 mm 400 x 200 mm 300 x 300 mm 200 x
200 mm

ACCESSORIES INCLUDED
4 x M5 14 mm screw 4 x M6 14 mm screw 4 x M6 30 mm screw 4 x M8 30 mm screw 4 x M8
50 mm screw

WARRANTY
Lifetime return-to-base

COMPLIANCES
RoHS, ADA (Americans with Disability Act) Compliant

ORDER PART CODE
VFM-W8X4V/2 [EU SAP: 6333313 / US SAP: tba]

https://files.visionaudiovisual.com/products/VFM-W8X4V-2/manuals/VFM-W8X4V-2_manual.pdf
https://files.visionaudiovisual.com/products/VFM-W8X4V-2/images/VFM-W8X4V-2.png
https://files.visionaudiovisual.com/products/VFM-W8X4V-2/images/VFM-W8X4V-2.zip
https://files.visionaudiovisual.com/products/VFM-W8X4V-2/images/VFM-W8X4V-2_dims.png
https://files.visionaudiovisual.com/products/VFM-W8X4V-2/images/VFM-W8X4V-2_front.png
https://files.visionaudiovisual.com/products/VFM-W8X4V-2/images/VFM-W8X4V-2_front_angle.png
https://files.visionaudiovisual.com/products/VFM-W8X4V-2/images/VFM-W8X4V-2_side.png

